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2

2 3( , , , ) ( , , , ),
S

J I e q x y ds a a q q a A e q x y

1. S ;
2. q =(x ,y ,z )

 ( ) 

;
3. ai ; q =H1e +H2(e )e ;
4. H1,H2 .

 70-  1 :
1.  600";
2.  900 ;
3. 
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 [ – smax , +smax ]

smax = 0.01
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smax = 0.02
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:
I(e ,q ,x,y)=A(e ,q ,x,y)sin2( (e ,q (e ,q ,x,y))/

/( (e ,q (e ,q ,x,y))2,

1. e =( , , x , y , z , , )
2. , ;
3. x , y , z ;
4. , ;
5. x,y ;
6. q =( x , y , z , , )

;
7. 2=(x+ x + 1 + 2 + 3 x + 4 z )2+(y+ y + 1 + 2 +

+ 3 y + 4 z )2;
8. = 5- 6( z + 7 z + 8 + 8 + 9 y + 9 x )2;
9. A= 10- 11( y (x- x )+ 12 x (y- y )+ 13 x (x- x )+ 14 y (y-y )+ 15 z )2;
10. i

.
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